TR20FE

B LT LK,
4 & COD#EH®! - -
h iR 4 EZEid] i
St.1 EF-HEE — -
—i%IEH _
K& (°C)
XiE _[SE(CC) =RE e 2KE 1% B B T =X k0
48 Bh 22.0 19.0 — 35.0 14.0 BE 58-E |
68 Bh 240 23.6 — 30.0 11.0 BE H5E-E |
88 Bh 30.8 29.1 — 35.0 15.0 BE H5E-E |
108 =) 23.8 26.5 — 32.0 16.0 BE H5E-E |
128 BEh 19.0 21.1 — 32.0 16.0 BE HeE R |
28| Bh 13.8 17.9 - 32.0 17.2 BE e - mR
EFRREIER
oH DO COD |XBE#HM |[h-~FHoH 2B% E
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
=EE| - — — — — — —
EHE(75%1E) - 8.0 1.0(1.3) 0.0 <0.5 0.16 0.009
48 =B 8.1 8.7 0.9 0.0 <05 0.14 0.011
hE - - - - - - -
65 xB 8.2 8 1.3 0.0 <0.5 0.15 0.005
hE - - - - - - -
8H xB 8.1 6.9 1.3 0.0 <05 0.22 0.009
= 8.1 7.3 0.8 0.0 <05 0.12 0.007
108 ; E = = = = = = =
= 8.2 8.0 0.9 0.0 <0.5 0.13 0.008
128 T = = = = = = =
oH *xB 8.2 9.2 0.8 0.0 <05 0.17 0.012
e - - - - - - -
REEIER (REDHAEHAD
I INESII P o) Al oL it* #ixksE [7rxrkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 — <0.0005
48 - - - - - - - -
68| <o0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 — <0.0005
8H - - - - - - - -
108]| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 — <0.0005
128 - - - - - - - -
28 - - - - - - - -
oooni| mige [1,2->900]1,1-CHaa [P zr-1,2-C4(1,1,1-F)H0[ 1,1.2-ry4a | FYS0O0
2 b2 3 IaY IFLY AaaxTFLy a4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
1081 <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - - -




Fr34H0n0(1,3-o450 = SN FAAY TNTR . HREERRU
TI?‘I/‘J oAy 7’"77.1-\ DA @IV jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.07
48 - - - - - - - -
6 A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.12
8H - - - - - - - -
10A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
124 - - - - - - - -
2H - - - - - - - -
ZNDhIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
:Fﬁﬂl_g <0.02 - 1 <0.005 <0.001 <0.008
E3E] - - 1 <0.005 - -
41 th 8 — — — — — —
68 AL <0.02 - 1 <0.005 <0.001 <0.008
= - - <1 <0.005 - -
8AH th 8 — — — = — —
108 AL <0.02 - <1 <0.005 <0.001 <0.008
= - - <1 <0.005 - -
12H ; E — — — = — —
- - <1 <0.005 - -
2 [=]
A /g — — — — — —
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE|] 19000 - -
E3E] 19000 - -
| NS -
= 19000 — -
R -
= 19000 — -
B -
= 19000 — -
10AH ; E — — —
= 18000 — -
12AH ; E — — —
19000 — -
2 [=]
A thiE ~ — —




TR20FE

B LT LK,
4 & COD#EH®! - -
h iR 4 EZEid] i
St.2 [ER-HEE - —
—i%IEH _
K& (°C)
Xz |%iE(°C) =RE e 2KE 1% B B T =X k0
48 Bh 22.0 19.2 — 26.0 14.0 BE a58-E |
68 Bh 240 235 — 25.0 11.0 BE a58-E |
88 Bh 30.5 28.9 — 27.0 16.0 BE a28-E |
108 =) 23.8 26.0 — 25.0 13.0 BE a5E-E |
128 Bh 19.0 20.5 — 21.0 16.5 BE HeE R |
28| #Eh 13.8 17.9 - 21.0 16.0 BE e | BB
HRREIER
oH DO COD |XBE#HM |[h-~FHoH 2B% E
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
=EE| - — — — — — —
ERE(75%1E) - 8.0 1.0 15 <0.5 0.14 0.008
48 =B 8.2 8.1 0.9 9.0 <05 0.10 0.011
hE - - - - - - -
65 xB 8.2 8.0 1.2 0.0 <0.5 0.17 0.006
hE - - - - - - -
8H xB 8.1 7.1 14 0.0 <05 0.18 0.007
= 8.1 7.1 0.8 0.0 <05 0.13 0.005
108 ; E = = = = = = =
= 8.2 8.3 0.8 0.0 <0.5 0.13 0.008
128 T = = = = = = =
oH *xB 8.2 9.2 0.8 0.0 <05 0.11 0.011
e - - - - - - -
REEIER (REDHAEHHD
I INESII P o) Al oL it* #ixksE [7rxrkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 — <0.0005
48 - - - - - - - -
68| <o0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 — <0.0005
8H - - - - - - - -
108]| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 — <0.0005
128 - - - - - - - -
2H - - - - - - - -
oooni| mige [1,2->900]1,1-CHaa [P z-1,2-C4(1,1,1-k)H0[ 1,1.2-ry4a | FYS0O0
2 b2 3 IaY IFLY AaaxTFLy a4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108]| <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2H - - - - - - - -




Fr34H0n0(1,3-o450 = N FAAY ST . HREERRU
TI?‘I/‘J oAy 7’"77.1-\ v jJ}l/j oty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08
48 - - - - - - - -
6 A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
8H - - - - - - - -
10A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
124 - - - - - - - -
2H - - - - - - - -
ZTNDIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
:Fﬁﬂl_g <0.02 - 1 <0.005 <0.001 <0.008
E3E] - - <1 <0.005 - -
41 th — — — — — —
68 AL <0.02 - 1 <0.005 <0.001 <0.008
= - - <1 <0.005 - -
8AH th 8 — — — = — —
108 AL <0.02 - <1 <0.005 <0.001 <0.008
= - - <1 <0.005 - -
12H ; E — — — — - -
- - <1 <0.005 - -
2 [=]
A /g — — — — — —
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBTE] 19000 - -
E3E] 18000 - -
| NS -
= 19000 — -
R -
= 19000 — -
B -
= 19000 — -
10AH ; E — — —
= 18000 — -
12AH ; E — — —
19000 — -
2 [=]
A /g — — —




